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2
class PrintString {
void PrintStr(int x) {
System.out.println(x);
}
void PrintStr(int x, int y) {
VURE R G
3
}
- RfT3—FR

class Mon3 {

public static void main(String[] args) {
PrintString ps = new PrintString(Q);

ps.PrintStr(1,2);
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public class Mon4 {
public static void main(String[] args) {
Account remitter = new Account(”123”, 10000);
Account remittee = new Account(”456”, 10000);
remitter.remittance(2000, remittee);
3
}

RITHER

rem: 2000
remitter: account: 123 Balance: 8000
remittee: account: 456 Balance: 12000
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public class sample {
public static void main(String[] args) {
VIPAccount remitter = new VIPAccount(”123”, 100000);
Account remittee = new Account(”456”, 10000);
remitter.remittance(20000, remittee);
1

}

RITHRR

rem: 20000
remitter: account: 123 Balance: 80000
remittee: account: 456 Balance: 30000
Thank you
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class Calc {
int digit = 2;
int add(int x) {
return x+digit;
3
}

class SubCalc extends Calc {
void printAdd(int x) {
System.out.println(x + ”+” + digit + ”=" + add(x));
3
1

public class Mon6 {
public static void main(String[] args) {
SubCalc sCalc = new SubCalc(Q);
sCalc.printAdd(3);
}
}
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ROTAT S LDRTEREEABRS V. E5IC,

TreBEzHALL. (R6/R)

class Calc {
int digit = 2;
int add(int x) {

3

}

return x+digit;

class SubCalc extends Calc {
int digit = 3;
int add(int x) {

}

}

return (x+digit)*digit;

public class Mon7 {
public static void main(String[] args) {

}

}

SubCalc sCalc = new SubCalcQ);
System.out.println(sCalc.add(3));
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class Calc {
static double rate;
Calc(double x) {
rate = Xx;
3
private int weight = 100;
private int calc(int x) {
return (int)(x*rate)-weight;
}
void printCalc(int x) {
System.out.println(x +”->” +calc(x));
}
}

public class Mon8 {
public static void main(String[] args) {

Calc money = new Calc(1.05);

Calc money2 = new Calc(1.15);
money.printCalc(20000);
System.out.println(”Rate="+money.rate);
money2.printCalc(20000);
System.out.println(”Rate="+money2.rate);
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class Parent {
void display() {
System.out.println(”parent”);
1
}

class Child extends Parent {
void display() {
System.out.println(”child”);
1
}

public class Mon9 {
public static void main(String[] args) {
Parent p = new ChildQ);
p.display();
1
}
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10. ROTAVILDRTRERZEARBSV. ZOLIBKRTHERZF 612 1. BZzXKEI2CQrI 2 zxHELL (BR6R: INTEROR)
ZHRALL (BER8R) (@Q)7+—ILR (1)

cEEERIprivate® 71+ —J)LK: int speed
class A {
static int total =0; (D)X v R (&25H)
A(Q) {System.out.print("1"); total =total+5;} —— . - . . e . .
A(lnt X) {System.out.pr‘int(x); total =t0tal+4;} CINEZITSAY YR Gccel(): DXy RZHOEITEIREENS
} IOBINT B,
REDEZIRT XY v R getSpeed()
class B extends A {
B() {System.out.print("3"); total =total+3;}
B(int x) {System.out.print("4"); total =total+x;}
B(String x) {
super(2);

System.out.print("5"); total =total+l; E&ELUCar7 SR ZHAALBZUTICRY,

}
3 - EfFI3—R
class Monl12 {
class Monl1@ { public static void main(String[] args) {
public static void main(String args[]) { Car c1 = new Car(Q);
new B("Mon10"); System.out.println(cl.getSpeed());
new ACL); cl.accelQ);
new AQ; System.out.println(cl.getSpeed());
new BQ); _ cl.accel(Q);
System.out.println(); System.out.println(cl.getSpeed());
System.out.println(B.total); }
} }
}
- EITHER
0
5
10
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- Ef73—K

class Mon12 {

public static void main(String[] args) {
SuperCar scl = new SuperCar(Q);
System.out.println(scl.getSpeed());
scl.accel(Q);
System.out.println(scl.getSpeed());
scl.accel(Q);
System.out.println(scl.getSpeed());

3
}
- RITHER
0
15
30
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class CalcSum {
public double calc(double[] nums) {
double sum = 0;
for(int i=0; i<nums.length;i++) {
sum = sum + nums[i];
}
return sum;
}
}

class CalcAvg {

public double calc(double[] nums) {

double sum = 0;

for(int i=0; i<nums.length;i++) {

sum = sum + nums[i];

}

return sum / nums.length;

}
}

class Monl3 {

public static void main(String[] args) {
double[] nums = {1.1, 2.2, 3.3};
CalcSum cs = new CalcSumQ);
System.out.println("total = "+cs.calcCnums));

CalcAvg ca = new CalcAvgQ);
System.out.println("Average = "+ca.calc(nums));
}
}
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